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HES | EETICHT AL TRKEDEEOHE (8 BHM)
R3 R4 RS R6 R7
BHEE (a) 328. 000 405. 000
HERRA (b) 0. 000 0. 000
X158 (c=a+b) 328. 000 405. 000
RIEEN D DA (d) 306. 000 151.270
XILFKER (e) 482. 730 335. 296
BEEGUEE () 151.270 220.974
[ sexzueasm @ 83. 351 107. 361
T F%E (h=c+d-e-T) 0. 000 0. 000
FRRHEAFAE (i=(gh)/(ord) (%) 13.1% 19.3%
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HES  BERICHT S TKEELOHE (84 - HEM)
R3 R4 R5 R6 R7
EH%E (a) 10. 000 0.000
SEARAE b A 6.000 0. 000
R {+%8 (c=a+b) 4.000 0. 000
BIEEN D DIEHEE (d) 11.524 2.195
KIEEE (o) 13.329 2.195
BEERAEA (1) 2.195 0.000
[ >soxzugsm @ 2.195 0. 000
FA%E (h=c+d-e-T) 0. 000 0. 000
FRGRBE A+ FAE (i=(gh)/(ord) (%) 12.1% 0.0%
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R3 R4 R5 R6 R7
E5%E (a) 10. 000 7.500
FERRA (b) 0. 000 0. 000
R {+%8 (c=atb) 10. 000 7.500
BIEEN D DIRHEE (d) 36. 765 8.791
XK (o) 37.974 13. 541
BEERMEE () 8.791 2.750
T EO) 8. 791 2.750
T FA%E (h=c+d-e-T) 0. 000 0. 000
REIEHES+TAE (i=(g+h)/(c+d) %) 18. 8% 16. 9%
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HES  BETICHEHATRERRORETH (5% - ®2) (8 mEM)
R3 R4 R5 R6 R7
B2 %8 (a) 36. 000 29.920
FtEARA (b) 0. 000 0. 000
RA1%E (c=a+h) 36. 000 29.920
BIEEN D DRHEE (d) 12.000 7. 468
FHEEE (e) 40. 532 9.200
BEEEMEE () 7. 468 28.188
| Soxzmenm e 7.468 2.145
T FA%E (h=c+d-e-f) 0. 000 0. 000
FERREE A REE (i=(gh)/(ord) (%) 15. 6% 5. 7%
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